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Q.1 eD[ku rS;kj djrs le; eFkuh dks fdruk Hkjk tkuk pkfg, while prepairing butter, the churn should be 
(a) bldh {kerk dk vk/kk Half of it’s capacity 
(b) bldh {kerk Hkj dk  Full of it’s capacity 
(c) bldh {kerk dk ,d frgkbZ  One third of it’s capacity 
(d) bldh {kerk dk ,d pkSFkkbZ one fourth of it’s capacity 
Q.2,d cSy ls fuEu gkWlZ ikWoj izkIr gksrk gS The horse power obtained from one bullock is 
(a)0.10hp   (b)0.50hp (c)1hp      (d)0.75hp 
Q.3 LVSafp;u esa fdukjs ij Nr dh ÅapkbZ---------gksuh pkfg The height of roof at side in stanchion should be 
(a)5.2m     (b)4.4m     (c)2.4m    (d)4.8m 
Q.4 Qy okyh Qly] dsoy cht }kjk izlkfjr gksrh gS 

…………..fruit crop is only propogated through seed 
(a)  phdw Sapota    (b) vke Mango  
(c) dsyk Banana     (d) iihrk Papaya 
Q.5---------------vke dh chtjfgr fdLe gksrh g 

 ………is a seedless variety of mango 
(a) fla/kq Sindhu    (b) vkezikyh Amrapali  
(c) dslj Kesar     (d) lksuijh Sonpari 
Q.6 chtjfgr dsyk-----------------ds dkj.k gksrk gS Seedless in banana is due to 
(a) ouLifr vfu’ksdQyu Vegetative parthenocarpy    
(b) LVsuksijeksdkihZ stenopermocarpy 
(c) mRrstd vfu’ksdQyuStimulative parthenocarpy 
(d) mijksDr esa ls dksbZ ugha  None of the above 
Q.7-----------------iF̀kdfyaxh Qly dk ,d mnkgj.k gS& 

 ……..is an example of dioecious crop 
(a) iihrk Papaya     (b) pk; Tea  
(c) vke Mango     (d) ukfj;y Coconut 
Q.8 yfyr fuEu dh ,d mUur fdLe gS Lalit is an improved variety of 
(a) iihrk Papaya   (b) dsyk Banana  
(c) ve:n Gauva      (d) vkeMango 
Q.9 ikS/kksa ds iks’k.k esa ,uihds dks fuEu ekuk tkrk gS NPK are regarded in plant nutrition as 
(a) lw{e iks’kd Micronutrient     
(b) ys”k rRo Trace element 
(c) vuko”;d Non essential      
(d) cg̀r~ iks’kd Macro nutrient 
Q.10 fuEufyf[kr esa ls dkSu lk olk vkSj ,l,u,Q ds la;ksftr lzksrka dk loZJs’B mnkgj.k gS Which of the following is the best 
example of combined sources of fat and SNF 
(a) ySDVkst ikmMj Lactose powder   
(b) lw[kk nw/k ikmMj ¼fLde feYd ikmMj½ Skim milkpowder 
(c) eB~Bk ikmMj gS ¼OgS ikmMj½ Whey powder       
(d) ehBk la?kfur nw/Sweetned condensed milk 
Q.11 lksj?ke esa ueh izfrcy ds fy, laosnu”khy pj.k gS The sensitive stage to moisture stress in sorghum is 
(a) flQZ vukt Hkj. Grain filling only    
(b) flQZ iq’iu Flowering only 
(c) A vkSj B nksuksa Both A and B            
(d) buesa ls dksbZ ugha None of the above 
Q.12 ehBk larjk fuEu ifjokj ls lacaf/kr gS  
Sweet orange belongs to the family of 
(a) :Vslh Rutaceae              (b) foVslVitaceae 
(c) cEcslh Bombaceae           (d) jkstslh Rosaceae 
Q.13 vke ds jksi.k dh lokZf/kd yksdfiz; fof/k gSThe most popular method fro mango planting is 
(a) ifjjs[kk Contour                (b) vk;rkdkj Rectangle 
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(c) oxkZdkj Square                   (d) fod.kZ Diagonal 
Q.14 ljdkj us Qly chek ;kstuk dks--------------ds fy, “kq: fd;k Government introduced crop insurance scheme for 
(a) lw[ks ds [krjs Drought risk           
(b) e`nk leL;kvksa  Problem soil 
(c)[kjirokj laØe.k Weed infestation    
(d) dhV vkØe.k Pest attack 
Q.15 Qy ,oa lfCt;ka] foVkfeuksa o [kfutksa ds le`) lzksr gksrs gSa vkSj os-------------------dgykrs gSa Fruit and vegetables are rich source of 
vitamin and minerals and they are called as 
(a) izeq[k vkgkj Staple food             
(b) ÅtkZ;qDr [kk| Energy food 
(c) laj{kd [kk|Protective food        
(d) ikSf’Vd [kk| Nutritive food 
Q.16vaMksa dh dSaMfyax fuEu ds fy, dh tkrh gCandling of egg is done to 
(a) dsoy Hkzw.k dh thou{kerk ds ijh{k.k ds fy, Test the viability of embryo only             
 (b) dsoy vaMksa esa ok;qdks’k fpfUgr djus ds fy, Mark the presence of air sac in egg only 
(c) dsoy vaaMksa esa jDrokfgdkvksa dks <aw<us ds fy, Find blood vessels in egg               
(d) mijksDr lHkh ds fy,All the above 
Q.17 VekVj esa iq’ikxz&foxr ¼CykWle ,aM jkWV½-------dh deh ds dkj.k gksrs gSa  
Blossom end rot in tomato is due to deficiency of 
(a) vk;ju Iron                 (b) iksVsf”k;e Pottassium  
 (c) ukbVªkstu Nitrogen      (d) dSfY”k;eCalcium 

Q.18 ykyckx m|ku------------------esa fLFkr gS Lalbagh garden is situated at 
(a) vksfM”kk Orissa     (b) y[kuÅ Lucknow      
(c) cSaxyksj Bangalore   (d) eqacbZ Mumbai 
Q.19ènk d.kksa dh O;oLFkk dks----------------------ds :i esa tkuk tkrk gThe arrangement of soil particles is reffered to as 
(a) e`nk lajpuk Soil structure             
 (b) e`nk cukoV Soil texture 
(c) e`nk laxBu Soil organization          
(d) buesa ls dksbZ ugha None of the above 
Q.20;wfj;k esa ukbVªkstu dk izfr”kr D;k gS What is the percentage of Nitro-gen in urea is  
(a)46%             (b)56%  (c)36%              (d)42% 
Q.21 ènk dh dkcZfud inkFkZ ek=k D;k gS What is the organic matter content of soil 
(a)20%             (b)5%    (c)10%              (d)15% 
Q.22 losZ{k.k {ks= iqLrd dk eq[; vo;o D;k gS What is the main component of survey field book  
(a) mi;qZDr esa ls dksbZ ugha Name of the location            
 (b) LFkku dk uke Name of the surveyor 
(c) losZ{kd dk uke Measurment and discription   
(d) ekiu vkSj forj.k None of the above 
Q.23 losZ{k.k esa ,d dEikl dk D;k iz;ksx gksrk gS What is he use of a compass which is used in surveying 
(a) xgjkbZ dks ekius ds fy, To measure the depth           
 (b) <yku dks ekius ds fy, To measure the slope 
(c) xq:Ro dks ekius ds fy,  To measure the gravity    
(d) ,d js[kk dh fn”kk dks ekius ds fy,To measure the direction of a line 
Q.24 ènk Øeksa ¼lkW;y vkWMZj½ dh dqy la[;k D;k gS What is the total number of soil orders 
(a) rsjg Thirteen  
(b) ukS Nine  
(c) X;kjg Eleven             
 (d) ckjg Twelve 
Q.25fuEufyf[kr esa ls fdl Qy dh Qly esa oSdfYid vlj ¼vkWYVjusV fc;fjax½ ns[kk tkrk gAlternate bearing is observed in 
which of the following fruit crop 
(a) ve:n Gauva      (b) phdw Sapota         (c) vke Mango  
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(d) iihrk Papaya 
Q.26 xktj ,d-------------ijkx.k lCth gS Carrot is a………..pollinated vegetables  
(a) Økl Cross        (b) vf/kdrj ØkWl Often cross  
(c) Lo;a Self    (d) mi;qZDr esa ls dksbZ ugha None of the above 
Q.27rkM+ dk rsy]--------------}kjk mRiUu fd;k tkrk gOil palm is mainly propogated by 
(a) cht ¼lhM½ Seed         (b) dye cka/ku ¼xzkf¶Vax½ Grafting       (c) pw’kd ¼ldj½ Sucker (d) iz”kk[kk ¼vkWQ “kwV½ Offshoot 
Q.28 dkSu lh tqrkbZ dh BwaBhnkj iyokj tqrkbZ ds :i esa tkuk tkrk gS Which tillage is known as stubble mulch tillage 
(a) “kwU; tqrkbZ Zero tillage             
 (b) laj{k.k tqrkbZ Conservation tillage 
(c) xSj ekSleh tqrkbZ Off season tillage    
(d) U;wure tqrkbZ Minimum tillage 
Q.29 Vax xzkf¶Vax ------------------dk ,d la”kksf/kr :i gS Tongue grafting is a modified form of 
(a) buvkfpZax Inarching                 
 (b) lSMy xzkf¶Vax Saddle grafting 
(c) fOgi xzkf¶Vax Whip grafting         
 (d) mi;qZDr esa ls dksbZ ugha None of these 
Q.30 xqynkmnh ¼ØkblsUFkhee½ ,d-----------------gS Chrysanthemum is a 
(a) vDlj&ØkWl ijkx.k Qly Often cross pollinated crop  (b) Lo;a ijkx.k Qly Self pollinated crop 
(c) mi;qZDr esa ls dksbZ ugha  Cross pollinated crop               
 (d) ØkWl ijkx.k Qly None of the above 
Q.31 ---------Qly i)fr esa fofHkUu ÅapkbZ;ksa dh Qly dks mxk;k tkrk gS The crops of different height are in……cropping system 
(a) ohfFkdk Alley    (b) cgq eaftyk Multi storied  
(c)fjyRelay     (d) vuqØe Squence 
Q.32 Qlyksa ds lkFk yM+dh ds fy, o`{kksa dks mxkuk----------ds :i esa tkuk tkrk gS& Growing of trees for timber along with crops is 
known as 
(a) df̀’k ou&o/kZu Agri-silviculture     
 (b) df̀’k ckxokuh Agri-horticulture 
 (c) gkWVhZ&ikW”pj Horti-pasture           
 (d) gkWVhZ&flYohdYpj Horti-silviculture 
Q.33 LVªkbxk [kjirokj--------------ls lacaf/kr gS Striga weed is associated with 
  (a) ljlks Mustard              
  (b) eDdk Maize  
  (c) lksj?ke Sorghum              
   (d) xsgwa Wheat 
Q.34 xUuk ,d-----------------ikni gS Sugarcane is a ……….plant 
(a) y?kq jkf=Short night        
(b) y?kq fnol Short day  
 (c) nh?kZ fnol Long day  
(d) fnol fujis{k Day neutral 
Q.35Qly dks mRiUu djus dh e`nk dh {kerk-------dgykrh gThe capacity of soil to produce the yield is called as 
(a) e`nk lwpdkad Soil index            
(b) e`nk moZjrk Soil fertility 
(c) e`nk {kerk Soil capacity        
(d) e`nk mRikndrk Soil productivity 
Q.36 Cyw Økafr blls lacaf/kr gSThe Blue revolution is related with 
(a) nw/k mRiknu Milk production        
 (b) ) [kk|kUu mRiknu Food grain production 
(c) frygu mRiknu Oilseed production   
 (d) eNyh mRiknu Fish production 
Q.37 flapkbZ dh dkSu lh i)fr vkerkSj ij iz;qDr ugha gksrh gSWhich system of irrigation is not practiced usually 
(a) ugh flapkbZ Canal irrigation                   



SCI KRISHI  SANSTHAN                                                                                              INDIA'S N O.1 AGRICULTURE COACHING 

{Ag 1+Ag-2,3} IMPORTANT FOR PAT EXAM 2018    Your success is our mission…               Dir- SATENDRA SIR          

 Head Office    :  (1) VASNAVI DARBAR,NEAR BANK OF MAHARASTRA, Morar Road Gole ka Mandir, 0751-4723909               
                          :  (2) 12- MLB COLONY PADAV LASAKAR  GWALIOR (M. P.)  0751-4910670 
Call us             :   Mob : 8889593108, 8109093108, 8819959108                                                          Dir-Mr. SATENDRA SINGH 

MPPAT|ICAR-CUET(UG) 

(b) m)gu flapkbZ Lift irrigation 
(c) milrg flapkbZ Subsurface irrigation          
(d) QOokjk flapkbZ Sprinkler irrigation 
Q.38 dkSu lh ènk lajpuk] ikS/kksa dh of̀) ds fy, loksZRre gSWhich soil structure is the best for plant growth 
(a) likV vkSj xksy Platy and round                 
(b) dks.kh; vkSj likV Angular and platy 
(c) nkusnkj vkSj pwjk Granular and crumb         
 (d) csyukdkj vkSj xksykdkj Cyclinder and spherical 
Q.39,dy lqij QkWLQsV esa ty ?kqyu”khy QkWLQksjl ek=k gS Water soluble phosphorus content in single super phosphate is  
(a) 24%      (b)28% (c)32%         (d)16% 
Q.40jlk;u tks fd [kjirokj dks u’V djus ds fy, i z;qDr gksrs gSa---------dgykrs gThe chemical used to kill weeds is known as 
(a) “kkduk”kh Herbicide        
(b) dhVuk”kd Insectcide 
(c) ihM+duk”kh Pesticide       
 (d) ;wdkuk”kh Acaricide 
Q.41 fuEufyf[kr esa ls dkSu th.kksZ)kj dye cka/kus ¼fjis;j xzkf¶Vax½ dk ,d :i gS&Which of the following is a form of repair 
grafting 
(a) flQZ “kh’kZ dk;Z ¼VkWi ofdZax½ Top working only        
(b) flQZ fczt dye cka/kuk ¼fczt xzkf¶Vax½ Bridge grafting 
(c) nksuksa A vkSj BBoth (A)&(B)                 
(d) mi;qZDr esa ls dksbZ ughaNone of the above 
Q.42[ksrksa esa Qyksa vkSj lfCt;ksa ds HkaMkj.k ds fy, fdl i)fr dk mi;ksx fd;k tkrk gS Which of the following method of storage 
of fruit and vegetables on farm 
(a) “kwU; ÅtkZ “khr d{k Zero energy cool chamber  
 (b) “khr HkaMkj  Cool store 
(c) la”kksf/kr okrkoj.k HkaMkj.k  Modified atmosphere           
 (d) fu;af=r okrkoj.k HkaMkj.k Controlled atmosphere  
Q.43 jkf= dky esa Hkh fuEufyf[kr esa ls dkSu] losZ{k.k dks ljy cukrk gS Which of the following facilitate surveying even in night 
time 
(a) dEikl Compass        
(b) vkufrekih Inclimeter  
(c) thih,l GPS         
(d) Jà[kyk,a Chain 
Q.44 fjlko ¼VªkbZdy½flapkbZ dks------------------uke ls tkuk tkrk gS Trickle irrigation is also known as 
(a) fLizadyj Sprinkle       
 (b) fMªi Drip   
(c)¶yksM Flood          
(d) cCyj Bubbler 
Q.45ewaxQyh esa [kjirokj ds fu;a=.k ds fy, dkSu lk “kkduk”kd iz;qDr gksrk gWhich herbicide is used for  control of weed in 
groundnut 
(a) iSjkOdSV Paraquat       (b) fleSftu Simazine 
(c)2] 4&Mh 2,4-D               (d) ¶ywDyksjsfyu Fluchloralin 
Q.46------------flapkbZ i)fr esa mPp ty mi;ksx n{krk dks ns[kk x;k Fkk Highest water use efficiency is observed in….irrigation 
method 
(a) ¶yksMFlood       (b) Qqjks Furrow  
  (c) fMªi Drip         (d) fLizadyj Sprinkler 
Q.47 dSuk esa lw[ks Qwyksa dh izjksg dks gVkuk---------------gS The removal of dried flowered shoots in canna is 
(a)izf”k{k.kTraining     
(b) MhgksfuZax Dehorning 
 (c) vkHkklh rFkk fu’dklu ¼eSVVkWfdax½Mattocking    
 (d) Mh”kwfVax Deshooting 
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Q.48 czkWbtj iksYVªh if{k;ksa dks ifj’dkj jk”ku ¼fQfu”kj jk”ku½ fdl vk;q esa fn;k tkrk gS Finisher ration is given to boiler poultry 
birds at what age 
(a) 8 ls 21 fnu dh vk;q esa  8 to 21 days of age     
 (b) 22 fnu ls ysdj fcØh rd From 22 days up to sale 
(c)6 ls 7 fnu dh vk;q esa 0 to 7 days of age          
(d) 9 ls 20 lIrkg dh vk;q esa 9 to 20 weeks of age 
Q.49 lfCt;ksa dks okafNr vkSj mi;qDr vkdkj okys fMCcksa esa j[kus dks------------------dgk tkrk gS The process of putting the vegetables 
into suitable container of required and desired sizes is called as 
(a) iSdsftax Packaging       (b) fVªfeax Trimming   
(c)“kkbfuax shining         (d) xzsfMax Grading 
Q.50?kh esa ueh dh ek=k fuEu gksuh pkfg,The moisture content of ghee shouls be 
(a) 0.5% ls vf/kd ugha Not more than 0.5%       
 (b) 3% rd Upto 3% 
(c)1% ls de Less than 1%                      
 (d) 1 ls 2% 1 to 2% 
Q.51 nw/k dk Lokn fuEu dk feJ.k gksrk gS The flavor of milk is a blend  of the  
(a) dsoy mifLFkr QkWLQksfyfiM] QSV~Vh ,flM o olk Presence of phospholipid, lipid and fat only       
 (b) dsoy mifLFkr ySDVkst Presence of lactose only 
(c) dsoy mifLFkr [kfut Presence of minerals        
 (d) mi;qZDr lHkh All the above 
Q.52 The average freezing point derpression of cow milk may be taken as 
(a)1.549C       (b)1.547 (c)0.547C         (d)0.549C 
Q.53 U;w dSly jksx dks fuEu uke ls Hkh tkuk tkrk gS The new castle disease is also known as 
(a) cMZ ¶yw jksx Bird flu disease        
 (b) eSjsd dk jksx Marek’s disease 
(c) jkuh[ksr jksx Raniket disease       
 (d) xqEcksjks jksx Gumboro disease 
Q.54 iqB~Vs tka?k vkSj da/ks ij lwtu fuEufyf[kr esa ls fdl jksx dk y{k.k gS The swelling over hip,thigh and shoulder is a 
symptom of which of the  following  disease 
(a) CySd DokVZj Black quater              
(b) cqzflyksfll Brucellosis 
(c),aFkzsDl Anthrax                        
d) eSLVkbfVl Mastitis 
Q.55 6 ls 12 o’kZ ds nkSjku i”kqvksa dh vk;q dh x.kuk fuEu ds }kjk dh tkrh gS The age of animal during 6 to 12 years is calculated 
by the 
(a) LFkk;h d̀ardksa dh f?klkbZ ,oa fonkj.k  Wear and tear of permanent           
(b) miyC/k nkarksa dh la[;k Available number of teeth 
(c) nkarksa ds mXnkj ¼bjI”ku½ Teeth eruption            
(d) miyC/k vLFkkbZ dàrd nkarksa ds ;qXeksa dh la[;k Number of pairs of temporary incisors present 
Q.56 og lCth] tks izd`fr esa vEyh; gksrh gS The  vegetable which is acidic in nature is 
(a) VekVj Tomato        (b) vkyw Potato  
(c) fHkaMh Okra                 (d) cSaxuBrinjal 
Q.57 dqDdqV dh fxfjjkt uLy fuEufyf[kr }kjk fodflr fd;k x;k gS Girraj breed of poultry is developed by 
(a) izkstsDV MkbjsDVj vkWQ iksYVªh] gSnjkckn Project Directorate of poultry,hyderabad        
(b) lhihch,Q] eqEcbZ CPBF, Mumbai 
(c) lhihch,Q] gslkj?kV~Vk CPBF,Hesaraghatta         
 (d) osVjusjh dkWyst] caxyksj Veterinary college,Bangalore 
Q.58ids Qy fdl xSl dks mRlftZr djrs gRipened fruits emit which type of gas 
(a) ,fFkyhu Ethylene       (b) esfFkyhu Methylene  
 (c) ehFksu Methane       (d) veksfu;k Ammonia 
Q.59 ,p,u 260 ys;j cMZ izfr o’kZ-------vaMksa dk mRiknu djrh gS HN 260 layer bird produces…….eggs per year 
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(a)250to 260      (b)210 to 230 (c)240 to 250  (d)230 to 240 
Q.60 oh;Z ds laxzg.k ds nkSjku] d`f=e ;ksfu dk dks.k-------------gksuk pkfg,&Which collecting the semen, the angle of artificial vagina 
should be 
(a)35       (b)45     (c)55         (d)65 
Q.61 eosf”k;ksa dk vkerkSj ij---------------esa ,d ckj otu fd;k tkuk pkfg,&Cattle should be weighed usually once in a… 
(a) lIrkg Week     (b) ekg Month  
 (c) o’kZ Year         (d) 3 ekg 3 month 
Q.62 lfCt;ka------------esa le`) gksrh gS Vegetables are rich in 
 (a) rsy Oils               (b) olk Fats      
 (c)[kfut Minerals    (d) izksVhu Proteins 
Q.63 lfCt;ka] izd`fr esa----------gksrh gSa Vegetables are….in nature 
(a) vEyh;Acidic        
(b) ekewyh vEyh; Slightly acidic  
(c){kkjh; Alkaline     
(d) mPp&vEyh; Highly acidic 
Q.64 izlo ds ,d lIrkg iwoZ] is”kh;ksa esa foVkfeu D3 @10 fefy;u I.U. dk batsD”ku-----------chekjh ls cpkus ds fy, fn;k tkrk gS Injection 
of vitamin D3@ 10 million I.U. Intramusculary a week  before paturation is given to avoid 
(a) fMLVksfd;k  Dystokia   
(b) feYd Qhoj Milk fever  
(c) lkokZbdks&oSftuy izksySIlCervico-vaginal    
(d) fVEiuh Tympany 
Q.65Ms;jh i”kqvksa ds fy, vkokl iznku djus dk D;k m}s”; gksrk gWhat is the objective of providing housing for dairy animals 
(a) dsoy Je dh n{krk c<+kus fy, To increase efficiency of labour only        
(b) dsoy taxyh i”kqvksa o pksjh ls cpkus ds fy, To protect from wild life and theft only 
(c) ) dsoy i”kvksa dks vf/kdre vkjke nsus ds fy,  

To provide maximum comfort to animals only         
(d) mi;qZDr lHkh  All the above 
Q.66 buesa ls dkSu lk thok.kq cSflyjh OgkbV Mk;fjek jksx dk dkj.k gksrk gS What is the casual organism of bscillsry white 
diarrhea disease 
(a) ,LiftZyl QehxsV~l Aspergillus fumigatus        
(b) lSyeksusYyk iqyksje Salmonella pulloram 
(c) giZl okbjl Herpes virus                          
(d) vosu fj;ksokbjl Avain reovirus 
Q.67 cdjh dh mLekukcknh uLy dk Mªsflax izfr”kr fdruk gksrk gS What is the dressing percentage of osmanabadi breed of goat 
(a)60-65%       (b)25-35%   (c)55-60%         (d)45-50% 
Q.68 jk”ku ls D;k rkRi;Z gS What is mean by ration 
(a) ;g 8 ?kaVs dh vof/k ds fy, i”kq dks Hkj.k iks’k.k ds fy, fn;k tkus okyk pkjk gS It is allowance feed given to animal for a 
period of 8 hours        
(b) ;g ,d ekg dh vof/k ds fy, i”kq dks Hkj.k iks’k.k ds fy, fn;k tkus okyk pkjk gS It is allowance feed given to animal for a 
period of month 
(c);g 24 ?kaVs dh vof/k ds fy, i”kq dks Hkj.k iks’k.k ds fy, fn;k tkus okyk pkjk gS It is allowance feed given to animal for a 
period of 24 hours         
 (d) ;g ,d o’kZ dh vof/k ds fy, i”kq dks Hkj.k iks’k.k ds fy, fn;k tkus okyk pkjk gSIt is allowance feed given to animal for a 
period of one year 
Q.69 eosf”k;ksa esa fjaMjisLV jksx ds D;k y{k.k gksrs gSa What is/are the symptoms of rinderpest disease in cattle 
(a) dsoy “kwfVax Mk;fj;k Shooting diarrhea only       
 (b) dsoy ykyklzo.k  Salivation only 
(c) dsoy eq[kh; “ys’ek f>Yyh ¼vksjy E;wde esEczsu½ ij Ård{k;h Nkys ;k mHkkj Only necrotic ulcers or erosion on oral  mucus 
membrane          
(d) mijksDr lHkh All the above 
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Q.70 dqDdqV ikyu jk”ku esa vifj’d̀r Qkboj dh vf/kdre lkanzrk fdruh gksuh pkfg,What should be the maximum concentration 
of crude fiber in poultry ration 
(a) 8 to 10%      (b)6 to 8% (c)1 to 3%         (d)3 to 5% 
Q.71 oh;Z ds laxzg.k ds le; d`f=e ;ksfu esa ekStwn ikuh dk rkieku fdruk gksuk pkfg,& What should be the temperature of 
water present in a artificial vagina while collecting the semen 
(a)30 C       (b)45 C  (c)60C         (d)75C 
Q.72cgqr vPNs xzsM Ldksj okyh Ms;jh xk; Ldksj dkMZ ds vkdyu 

esa---------------vad izkIr djrh gSDairy cow with “Very 
Good  grade scores…..points in judging score card 
(a)90       (b)70-85   (c)85-90         (d)80-85 
Q.73 uonqX/k fuEu dks fn;k tkrk gS Colostrum is given to 
(a) dsoy 6 ekg vk;q okys cNMs@cNMh dks  Calves age of 6 months only 
(b) dsoy ,d ekg vk;q okys cNMs@cNMh dks one month old calves only 
(c) dsoy uotkr cNMs@cNMh dks New born calves only          
(d) mijksDr lHkh dks All of the above 
Q.74 cjlhe esa-------------vifj’dr̀ izksVhu gksrk gS Berseem contains……..of crude protein 
(a)17-19%       (b)25-27% (c)12-15%         (d)21-23% 
Q.75 izrhi ladj.k dk fuEu vFkZ gksrk gS Back crossing means 
(a) ladj eknk dk blds “kq) oa”kt ij ds lkFk lalxZ mating of crossbred female to one of its pure breed male       
 (b) ladj eknk dk blds “kq) oa”kt ekrk&firk ds lkFk lalxZ Mating of crossbred female to one of its pure breed parent 
(c) ladj eknk dk bldh “kq) oa”kt eknk ds lkFk lalxZ Mating of crossbred female to one of its pure breed female          
(d) ladj uj dk blds “kq) oa”kt ekrk&firk ds lkFk lalxZ Mating of crossbred male to one its pure breed parent 
Q.76 I;kt fdl izdkj dh Qly gS Onion is which kind of crop 
(a) nh?kZ fnol ikni Long day plant               
 (b) fnol fujis{k ikni Day neutral plant 
(c) vYi fnol ikni Short day plant               
 (d) mi;qZDr esa ls dksbZ ugha  None of these 
Q.77“kjhj ds ia[kjfgr Hkkx tSls fd dqDdqVf”k[kk ¼dkse½ o V~Vj ¼okVYl½ ij /kCck ;k eLls tSls ?kko fuEufyf[kr esa ls fdl jksx dk 

y{k.k gSa Scab or wart like lesions on faetherless part of body such as comb and wattles is symptom of which of the 
following disease 
(a) Qkmy ikWDl Fowl pox                        
(b) eSjsd dk jksx Marek’s disease 
(c) jkuh[ksr Ranikhet                        
 (d) dkWDlhfM;rkCoccidiosis 
Q.78 og iks’kd ftudh t:jr ikS/kksa dks vYi ek=k esa gksrh gS Nutrient which are required by plants in small quantity are 
reffered as 
(a) lw{e iks’kd Micro nutrient             
(b) f}rh;d iks’kd  Secondary nutrient 
(c) izkFkfed iks’kd Primary nutrient          
(d) cg̀r~ iks’kd Macro nutrient 
Q.79 2 fdxzk- pksdj vkSj 1 fdxzk- xqM ;k [kkaM dks gYds xquxqus ikuh esa feydj fuEu dks fn;k tkrk gS 2kg bran plus 1kg jaggary or 
molasses moistened with lukewarm water is given to 
(a) dyksj ¼gkbQsj½ dks Heifer                                                 
 (b) uotkr cNMs@cNMh dks Newly born calf 
(c) gky gh esa cPps dks tUe nsus okyh xk; ;k HkSal dks Freshly calved cow or buffalo         
(d) xHkZorh xk; dks Pregnant cow 
Q.80 nw/k lzkfor djus okyk gkeksZu vkWDlhVksflu fuEu ls lzkfor gksrk gS Milk secreting hormone oxytocin is secreted from 
(a) i”;orhZ ih;w’k xzfUFk ¼ikW”Vhfj;j fiV~;wVjh XySaM½ Posterior pituitary  gland        
(b) vf/ko`Dd oYdqV ¼,Msªuy dkWVsZDl½ Adrenal cortex 
(c) vxzorhZ ih;w’k xzfUFk ¼,aVsfj;j fiV~;wVjh XySaM½ Anterior pituitary gland          
(d) voVqxzfUFk ¼FkkW;jk;M XySaM½ Thyroid gland 
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Q.81 fuEufyf[kr esa ls fdl fof/k ls mRikfnr nw/k vf/kd LoPN gksrk gS Milk produced by which of the following method is more 
hygienic 
(a) urca/ku ¼udfyax½ Knuckling     
b) fLVªfiax Stripping  
(c) fQfLVax Fisting      
(d) e”khu ls nw/k nqguk ¼e”khu fefYdax½ Machine milking 
Q.82 fuEufyf[kr esa ls dqDdqV j[kus dh lcls iqjkuh fof/k dkSu lh gS Which of the following is the oldest method for poultry 
keeping 
(a) Ýh jsat flLVe Free range system               
(b) dst flLVe Cage system 
(c) lseh baVsaflo flLVe Semi-intensive system         
 (d) Mhi fyVj flLVe Deep liter system 
Q.83 fuEufyf[kr esa ls dkSu lh Qly ?kkl cukus ds fy, loksZRre gS Which of the following is the best crop for hay making 
(a) yksfc;k Cow pea                          
(b) gjh tbZ green oat  
(c) gjh cjlhe green berseeem           
(d) ywluZ Lucerne 
Q.84xcZj QSV VSfLVax fof/k esa fuEufyf[kr esa ls fdl vEy dk mi;ksx fd;k tkrk gWhich of the following acid is used in the 
Gerber fat testing  method 
(a) lY¶;wfjd vEy Sulphuric acid               
(b) ukbfVªd vEy Nitric acid 
(c) gkbMªksDyksfjd vEy Hydrpchloric acid         
 (d) dkcZfud vEy Carbonic acid 
Q.85 jkseaFkh vkek”k; ds fuEufyf[kr esa ls fdl fgLls esa Hkhrj ls 100 ijrsa gksrh gS] ftUgsa ykfeuk dgk tkrk gS Which of the following 
part of ruminant stomachcontains 100 folds from inside called a laminae 
(a) jsfVdqye Retriculum                  
(b) :esu ¼izFke vek”k;½ Rumen 
(c) r`rh; vkek”k; Omasum                      
(d) prqFkZ vkek”k; abomasums 
Q.86fuEufyf[kr esa ls D;k ,d mRiknd eksVk pkjk ugha g Which of the following is not a productive roughage 
(a) yksfc;k Cowpea                      
(b) cjlhe Berseem 

(c) gjh eDdkGreen maize               
(d) yqluZ Lucerne 
Q.87 fuEufyf[kr esa ls D;k uj iztuu ra= dk Hkkx ugha gS Which of the following is not the part of male reproductive 
(a) ò’k.kdks’k Scrotum                     
(b) fMacokfguh uyh Testes 
(c) ò’k.k Fallopian tubes          
(d) vf/ko`’k.k Epididymis 
Q.88 fuEufyf[kr esa ls dkSu lh Qly xgjh tM+ okyh Qly ¼Mhi :VsM ØkWi½ gksrh gS Which of the following is a deep rooted 
crop 
(a) canxksHkh Cabbage             (b) I;kt Onion 
(c) yglqu Garlic                          (d VekVjTomato 
Q.89 nw/k fudkyus dh fuEufyf[kr fof/k;ksa esa ls fdlesa gkFk ls nw/k fudkyk tkrk gS Which of the following is a hand milking 
method 
(a) dsoy udfyax Knuckling only        
(b) dsoy fLVªfiax Stripping only 
(c) dsoy fQfLVax Fisting only               
(d) mi;ZqDr lHkh All the above 
Q.90 fuEufyf[kr esa ls dkSu dqDdqVikyu i{kh ¼iksYVªh cMZ½ dk cká ijthoh gS Which of the following is an external parasite of 
poultry bird 
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(a) ekbV~l Mites                       (b) lsLVksM~l Cestodes 
(c)) fuesVksM~l Nematodes           (d) VesZVksM~l Termatodes 
Q.91 ikbjksIykTerk dks fuEu uke ls Hkh tkuk tkrk gSPiroplasmosis is also known as 
(a) dsoy gSxoku Only hagwan          
(b) dsoy cqydaMh Only bulkandi 
(c) dsoy cSchfl;rk Only Babesiosis       
(d) mijksDr lHkh All the above 
Q.92 xsgwa----------------_rq dh ,d Qly gS Wheat is a ……. Season crop 
(a) tk;n Zaid                         
(b) jch Kharif 
(c) [kjhQ Rabi                         
 (d) mi;qZDr esa ls dksbZ ugha None of the above 
Q.93--------------,d is”kh; gksrh gS tks o{kh; o mnjh; xqfgdkvksa ds e/; xqacnkdkj foHkktu gksrk gS ……….is a muscular, dome-shaped 
partition between  the thoracic and abdominal cavities 
(a) xzluh ¼QSfjaxDl½Pharynx     
(b) e/;PNn ¼Mk;kÝke Diaphragm  
(c) czkWUdkbZ Bronchi        
(d) “okluyh ¼Vsªfd;k½ Trachea 
Q.94----------f”kac ¼Qyh½ ifjokj ls lacaf/kr gS& ………..belongs to the legume family 
(a) pkoy Rice       (b) eDdk Maize              
 (c) puk Gram         (d) xsgWheat 
Q. 95 -----------dks i”kq “olu ra= dh ok;q uyh ds uke ls Hkh tkuk tkrk gS ……..is also known as wind pipe of animal respiratory 
system 
(a) xzluh Pharynx        
(b) e/;PNn ¼Mk;kÝkWe½ Diaphragm  
(c) czkUdkbZ Bronchi     
(d) “okl&uyh Trachea 
Q.96 lhfyax ds ckn lkbyst rS;kj djus esa ukbVªsV&N ds lkFk D;k gksrk gS In silage preparation after sealing ,what happens to 
nitrate-N 
(a) c<+ tkrk gS Increase                           
(b) fu;r jgrk gS Remains constant 
(c) de gks tkrk gS Decrease                           
(d) mi;qZDr esa ls dksbZ ugha None of the above 
Q.97 iRrsnkj lfCt;ka eq[; :i ls---------------dS nkSjku mxkbZ tkrh gS Leafy vegetables are mainly grown during 
(a) o’kkZ _rq Rainy season       
(b) “khr _rq Winter season 
(c) xzh’e _rq Summer season            
(d) o’kZ Hkj Round the year 
Q.98 eksVk pkjk ,slh lkexzh gS ftlesa vifj’d`r Qkbcj ds---------------ls vf/kd rFkk VhMh,u ds------ls de ik;k tkrk gS Roughages are the 
feed stuff which contains more than 
(a)20%,70%       (b)16%,60% (c)22%, 80%        (d)18%,60% 
Q.99 iztuu cSy ds fy,-------izfr 100 fdyksxzke “kkjhfjd otu ds fglkc ls “kq’d inkFkZ ¼MªkbZ eSVj½ dk lsou vuq”kaflr fd;k tkrk gS 
A…..dry matter intake/100kg body weight is recommended for breeding bull 
(a)4kg       (b)8kg   (c)6kg         (d)2kg 
100. izR;sd xk; ;k HkSal izfrfnu vkSlru--------fdxzk- xkscj dk mRiknu djrh gS 100 On an average every cow or buffalo produces 
….kg dungs. 
(a)3-4       (b)10-20   (c)5-10         (d)30-40 
101;fn ljy yksyd dh yackbZ nksxquh dj nh tkrh gS rks ubZ le; vof/k gksxh& 

   If the length of the simple pendulumis doubled, then the new time period will be 
(a) ewy le; vof/k dh 3 xquk 

3 times the original time period   

 (b) ewy le; vof/k dh 2 xquk 
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2 times the original time period 
(c) ewy le; vof/k dh 4 xquk 

4 times the original time period 

(d) ewy le; vof/k dk 2 xquk 

√2 times the original time period 

iz-102- dkap dh ,d IysV ij izdk”k dh ,d fdj.k 300 ds vkiru dks.k ds lkFk fxjrh gS ;fn gok ds lca/k esa dkap dk viorZukad 1-5 

gS rks viorZu dks.k gS A ray of light falls on a glass plate with an angle of  

      incidence 30°. If the refractive index of glass with respect to air is 1.5, then the angle of refraction is: 
(a) sin-1 (0.33) (b) sin-1 (0.67) 

(c) sin-1 (0.45) (d) sin-1 (0.03) 

iz-103- vkse izfrjks/k okys ,d rkj dks 3 cjkcj Hkkxksa eas dkVk tkrk gS vkSj fQj ,d nwljs ds lekukarj tksMk tkrk gSA la;kstu dk izHkkoh 

izfrjks/k gS A wire of 15 ohm resistance is cut in to 3 equal parts and  

       then connected parallel to each other. The effective resistance of the combination is 

(a) 15 vkse    (b) 
3

15
vkse 

(c) 
3

5
vkse    (d) 

5

3
vkse 

iz-104-lkekU;r% vYdsu vkWDlhdj.k ls xqtjus ij izfrjks/k djrh gSA mRikn dk vuqeku yxk,a tc 2&esfFkyizksisu iksV f”k;e ijeSaxusV ls 

vfHkfØ;k djrh gS Generally, alkanes resist undergoing oxidation. Predict the  product formed when 2- methylpropane is 

reacted with  potassium permangan 
 (a) CO2 ,oa H2O CO2 and H2O / CO2 एवं H2O     

                      (b) bFksuksbd vEy ,oa QksfeZd vEy  

                     Ethanoic acid and fomic acid 
        (c) 2-esfFkyizksisu&2&vy 

               2- Methylpropan        
 (d) 2-esFkyizksihu 

 

iz-105- 10 yMfd;ksa dk out fdxzk esa ekik x;k vkSj ifj.kke uhps lwphc) gS&  

 48] 42] 49] 50] 40] 38] 51] 46] 39] 47 

 mu yMfd;ksa dh la[;k crkb, ftudk otu muds ek/; otu ls vf/kd gS The weight of 10 girls is measured in kg and results are  

listed below:48, 42, 49, 50, 40, 38, 51, 46, 39, 47 

 

 (a) 4    (b) 3  

(c) 7     (d) 6 

Iz10-6-fuEufyf[kr dFkuksa esa ls dkSu lk dFku lgh gS& Spot   the CORRECT statement from the following? 

  (a) ijek.kq nzO;eku] izksVkWu dh la[;k ds leku gksrk gS Atomic mass is same as number of protons 

(b) leLFkkfud ds fHkUu ijek.kq&Øekad gksrs gS ysfdu nzO;eku&la[;k leku gksrh gS Isotopes have different atomic number but same 

number 

(c) tsts FkkWelu }kjk ijek.kq ds ukfHkdh; ekWMy dks izLrkfor fd;k x;k Fkk The nuclear model of atom was proposed by J J 

Thomson 

(d) ,d izksVksu dk nzO;eku yxHkx ,d bysDVªkWu dk 2000 xq.kk gksrk gSA The mass of a proton is approximately 2000 times of an 

electron   

I10z-7-d.kksa ds ckjs esa fuEufyf[kr esa ls dkSu lk dFku lgh gS 

Which one of the f ollowing statements is CORRECT 

about particles 

 (a) dSFkksM fdj.kksa ds d.kksa esa dksbZ nzO;eku vkSj vkos”k ugha gksrk gS Particles of cathode rays have no mass and charge 

(b) dSFkksM fdj.kksa ds d.kksa esa dsoy vkos”k gksrk gS  

           Particles of cathode rays have only charge  

(c) dSFkksM fdj.kksa ds d.kksa esa dsoy nzO;eku gksrk gS Particles of cathode rays have only mass 

(d) dSFkksM fdj.kksa ds d.kksa esa nzO;eku vkSj vkos”k nksuksa gksrs gSa Particles of cathode rays have both mass and charge 

iz-108-dkcZu ijek.kq (C-12) esa U;wfDy vkWuks dh la[;k g The number of nucleos in carbon atom (c-12) is: 

S& (a) 12    (b) 4 

     (c) 6
 
   (d) 8 
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iz-109- cksgj ekWMy ds vuqlkj] ukbVªkstu] ¼ijek.kq la[;k 7½ dk lgh bysDVªkWfud foU;kl D;k gS What is the CORRECT electronic 

configuration of nitrogen according to bohr model? 
& 

(a)                (b)   

 

            (c)  

           (d)  

 

 

    

iz-110- ghfy;e ijek.kq ds vius jklk;fud la;kstu dks”k esa nks bysDVªkWu gksrs gSaA bldh la;kstdrk gksxh Helium atom has two electrons 

in its valence shell. Its valency is& 

(a) 0   (b) 4 

(c) 6   (d) 3 

iz-111- bysDVªkWuksa vkSj izksVkWuksa dh [kkst bl rF; dk leFkZu djrh gS fd The discovery of electrons and protons supports the fact 

that & 

(a) ijek.kq vfoHkkT; gksrs gSa Atoms are indivisible     

(b) ijek.kq foHkkT; gksrs gSa Atoms are divisible    
                    (c) U;wVªkWu ds fcuk ijek.kq fo|eku gksrk gS There  

exists an atom without neutrons 

               (d)  d.k ldkjkRed :i ls vkosf”kr gksrs gSa 𝛼     Particle are positively charged 

 

iz-112- fuEufyf[kr esa ls dkSu ls rRo ds leLFkkfud dk iz;ksx ukfHkdh; fj,sDVjksa esa bZa/ku ds :i esa fd;k tkrk gS112An isotope of 

which of the following  element is used as a fuel in nuclear reactors &   
                     (a) gkbMªkstu Hydrogen  

                     (b) ;wjsfu;e Uranium 

        (c) vk;ksMhu Iodine   

               (d) dksckYV Uranium 

iz-113- ,d rRo ds ijek.kq esa 7 bysDVªkWu lcls cká dks”k esa mifLFkr gSA ;g vko”;d la[;k esa bysDVªkWuksa dh Lohdkj dj mRd`’V xSl 

foU;kl izkIr djrk gS] vk;ru vkos”k gksxk In the atom of an element, 7 electrons are present in  the outer most shell. It acquires 

noble gas configuration by  accepting the required number of electrons, the charge on the   ion is: 
&(a)  +4   (b) +1 

  (c) -2   (d) -1  

iz-114-og tks csesy gS mls Kkr dj Identify the       one that is mis-mathced: sa&  

(a) vxukFkk&fcuk tcMs okyh eNyh Agnatha – jawless fish 

(b) vkWfLVDFkht&vfLFky eNfy;ka Osteichthyes – bony fishes 

                     (c) uSFkksLVksekVk&tcMs okyh eNyh      Gnathostomata – jawed fish 

(d) dksfUMª;kDFkht&vfLFkr eNfy;ka  

Chondrichthyes- bony fishes  

     iz-115- rus dh ifjf/k ds c<us dk dkj.k g Girth of the stem increases due to S&  

(a)  “kh’kZLFk foHkT;k Apical meristem 

                (b) varosZ”kh foHkT;k Intercalary meristem 

        (c) mnxz foHkT;k Vertical meristem 

        (d) ik”oZ foHkT;k Lateral meristem 

   

     iz-116- oSls tho tks izdk”k la”ys’k.k }kjk viuk Hkkstu la”ysf’kr dj ldrs gSa mUgsa--------dgk tkrk g Organisms which can synthesise 

their own food by photosynthesis are called………… S&  

 (a) e`rthoh tho Saprophytic organisms 

             (b) ijthoh tho Parasitic organisms  

(c) Loiksf’kr tho Autotrophic organisms      

                      (d) ijiksf’kr tho Heterotrophic organism 

iz-117- dksf”kdk dh jlksbZ gS  

              Kitchen of the cell isA  

 (a) ekbVksdkWfUMª;k MitochondriA    
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         (b) gfjryod Chloloplast 

(c) varnZzO;h tkfydk Endoplasmic reticulum     

(d) xkWYth midj.k Golgi apparatus   

iz-118- fuEufyf[kr esa ls fdl ikni esa Lod;qXeu ,oa xk;VksukxSeh ugha gks ldrk gS118In which one of the following plants , 

autogamy and  

geitonogamy cannot take palce?&  

 (a) vkWfdZM Orchid   

        (b) fgfcLdl Hibiscus 

(c) lse Bean     

(d) iihrk Papaya 

iz-119-fdl izdkj vlaxtuu ouLifr izo/kZu ds leku gS In what way apomixes is similar to vegetative propagation & 

 (a) nksuksa dsoy ,d chti=h ikniksa esa gksrs gSa Both occus in monocot plants only 

   (b) nksuksa viuh larfr dk fuekZ.k iwjs o’kZ djrs gSa Both produce offspring throughout the year 

(c) nksuksa vius ewy ds Dyksu dk fuekZ.k djrs gSa Both produce c lones of their parents 

(d) nksuksa iq’i dk mRiknu ugha djrs gSa Both do not produce flowers 

iz-120- lekarj Js.kh x-7, x-2, x+3,……… dk 21oka in gS The 21st Term of the AP, X-7,, X+3…………..& 
 (a) x+98    (b) x+93  

(c) x-93    (d) x-98   

iz-121- cksjkWu dh deh ds y{k.k ds lkFk eSaXuht dh deh dk ,d y{k.k fn;k x;k gSA eSaXuht dh deh ds y{k.k dh igpku dj Along 

with the deficiency symptom of boron, one   

       difeciency symptom of manganese is given. Identify the deficiency symptom of ma Identify the deficiency symptom of 

manganese sa&  

 (a) ;g Qwyksa dh vuqifLFkfr Qyksa ds fxjus dk dkj.k curk gS It causes abscission of flowers , fruit drop 

(b) izdk”k vk WDlhdj.k esa ,d Hkwfedk fuHkkrk gS Play a role in the photooxidation  

(c) foHkT;ksrd Ård dk fo:iu] efyufdj.k rFkk fo?kVu deformation, discoloration, and disorganization of 

meristematic tissue  

(d) xUus ds var% foxyu dk dkj.k curk gS Causes heart rot of sugar cane 

iz-  Q.122fdl fLFkfr esa fgr vfHkfØ;k gks ldrh g  

H               ill reaction can occur in which of the following  

condition S&  

 (a) Qsfjlk;ukbM dh mifLFkfr e In the presence of ferricyanide sa 

 (b) izdk”k ds vuqifLFkfr esa In the absence of light 

(c) tc ty iwjh rjg ls vuqifLFkr gksrk gS When water is totally absent
 (d) oSls ikS/ks tks ÅapkbZ esa c<rs gSa Plants which grow in high altitude 

iz-   Q.123ty ds izdk”k vi?kVu ds nkSjku izdk”k la”ys’k.k dh izdk”k vfHkfØ;k esa vkWDlhtu izkIr gksrk gSA bl vfHkfØ;k esa fufgr gksus okys 

rRoksa ds uke crk,a123 During photolysis of water , oxygen is evolved in the light reaction of photosynthsis. Name the 

elements which are involved in this reaction &  

(a) eSXuhf”k;e ,oa Dyksfju  

Magnesium and chlorine      

(b) eSXuhf”k;e ,oa dSfY”k;e Magnesium and calcium  

                  (C) Manganese and chlorine eSaxuht ,oa Dyksfju 

                  (D) Manganese and sodium eSaxuht ,oa lksfM;e 

Q.124 fuEufyf[kr esa ls dkSu lh ,d vfHkfØ;k] foLFkkiu vfHkfØ;k gS Which  one of the following reactions is a displacement  

reaction? 

(A)  

 (B)   

(C)   

(D)  

Q.125 fuEufyf[kr esa ls dkSu tMksa dh ewyh; Ropk ds led{k gS Which one of the following is equivalent to epiblema of  

the roots? 

(A) var”peZ Endodermis  (B) vf/kpeZ Epidermis 
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(C) mipeCuticle      (D) ifjjaHk Pericycle 

Q.126 Qyhnkj ikS/kkssa ds ewy xzafFkdk esa ysxgheksXyksfcu dk D;k dk;Z gksrk gS What is the function of leghemoglobin in the roots  

nodules of leguminous plants? 

(A) ewy xzafFkdk dk fuekZ.k Formations of roots nodules 

(B) vkWDlhtu viektZd  Oxygen sxavenger 

(C) ukbVªkstut ,atkbe dh xfrfof/k dks ckf/kr djuk 

To inhibit the nitrogenase enzyme activity  

(D)  uhQ thu vfHkO;fDr Nif gene expression 

 Q.127 tsuksxzk¶V dk D;k vFkZ gS What do you mean by xenograft? 

(A) vkuqoaf”kd :i ls leku O;f’V;ksa ds chp dk dye 

A graft between two genetically identical individual  

(B) leku tkfr ds nks O;f’V;ksa ds chp dk dye A graft between two individuals of the same species  

(C) fofHkUu tkfr;ksa d s nks O;f’V;ksa ds chp dk xzk¶V A graft between two individuals of the different species  

   (D) leku O;f’V ds ,d {ks= ls nwljs {ks= esa izfo’V dh xbZ dksf”kdk, 

Cells grafted from one area to another area of the same individual  

Q.128 ikS/kksa esa dSfY”k;e dh pkj fØ;kRed Hkwfedk,a nh xbZ gSa buesa ls ,d xyr dh igpku djsa Four Physiological roles of calcium in 

plants are given. Identify the false One. 

    (A) ;g dksf”kdk ikjxE;rk dks fu;af=r djrk gS 

 It controls cell permeability 

   (B) ) ;g dkcksZgkbMªsV rFkk vehuks ,sflM ds LFkkukarj.k esa enn djrk gS  

It helps in the translocation of carbohydrates and amino acids 

   (C) ;g LVksekVk dh xfrfof/k;ksa dks fu;af=r djrk gS  

It regulates the movement of stomata  

 (D) dksf”kdk f>Yyh ds fuekZ.k esa ;g egRoiw.kZ gS 

It is important in the formation of cell membrane 

    Q.129 yackbZ ‘I’ eh rFkk vuqizLFk dkV dk {ks=Qy A eh2 okys fn, x, rkj ds fy, izfrjks/k ‘R’ vkse gSA ;fn yackbZ nksxquh gks tkrh gS 

vkSj vuqizLFk dkV dk {ks=Qy vk/kkj gks tkrk gS rks u;k izfrjks/k gksxk For the given wire of length ‘I’ m and area of cross section 

‘A’ M2, the resistance is ‘R’ ohm. If the length is   

   doubled and the area of cross section is halved, then  the new  

    resistance will be: 

   (A) R/4 (B)R    (C) 2R   (D) 4R 

Q.130 ,d f}pj caVu ds fy,] lekJ;.k ¼fjxzs'ku½dh js[kk,a 3x+12y = 19 rFkk 3y+9x = 46 gksrh gSA caVu ds ek/; gS For a bivariate 

distribution, the lines of regression are 3X+ 12y =19 And 3 Y +9x=46. The  means of  the distribution are: 

   (A)    (B)  

   (C)    (D)  

 Q.131/kkfjrk 3pF okys rhu la/kkfj= gSa izR;sd dks lekukarj :i ls tksMk tkrk gSA izHkkoh /kkfjrk gS Three capacitors of capacitance 3pF 

each are connected in parallel. The effective Capacitance is: 

   (A) 6Pf   (B) 9 Pf        (C) 3pf  (D) 1/3 pf 

 Q.132 lkE;koLFkk ij ,d pkyd ¼daMDVj½ ds Hkhrj fonq;r foHkokarj gS The electric potential inside a conductor at equilibrium is: 

    (A) 0  (B) pj Variabl 

(C) fLFkjkad Constant         

 (D)1 dsoy vius T;kferh; dsUnz esa gh fLFkj gS   

 cosnstant at its geometrical centre only 

. 133. The burns caused by the steam at 100°C is more severe than the burns caused by the water at 100°C because: / 
1000C ij ok’i ls tyuk] 1000C ij ty ls tyus dh vis{kk vf/kd xzaHkhj gSa] D;ksafd& 

(a) ok’i] mcyrs ty dh vis{kk vf/kd ncko esa jgrk gS Steam is at a higher pressure than the boiling water. 

(b) ok’i] de le; varjky eas ty dh vis{kk ,d cMh txg rd QSy ldrk gS Steam can spread to a large space in a small interval of time than 

water 

(c) c) leku rkieku ij ty dh vis{kk ok’i esa vf/kd vk;ru gksrk gS Steam has more volume than the water at the same temperature 

d) mcyrs ty dh Å’ek ÅtkZ ds vykok ok’i esa ok’ihdj.k dh xqIr Å’ek fufgr gksrh gS In addition to the heat energy of the boiling water, 

the steam contains the latent heat of vaporization 

1Q.134 e/kqeD[kh ikyu dk vH;kl dgykrk gS The practice of bee keeping is called: 
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(   (A) iksYVªh QkfeZax Poulry farming    ( B) ,ihdYpj Apiculture 

(    (C) ihlhdYpj Pisciculture         (D) ,fuey glcsaMjh Animal husbandry 

Q.135,d lekarj Js.kh dk igyk in 2 gS vkSj vafre in 50 gSA;fn lHkh inksa dk ;ksx 442 ds cjkcj gS] rks lekUrj varj ----------------gS& 

T      he first term of an AP is 2 and last term is 50. If the sum of all terms is equal to 442, then the common difference 

is…………. 

    (A)17 (B) 5 (C) 3 (D) 18 

Q.136 ,d ljy e'khu dk ;kaf=d ykHk 3 gSA ;fn Hkkj&Hkqtk 5 ehVj gS rks vk;kl Hkqtk gksxk The mechanical advantage of the simple  

machine is 3. If the load arm is 5cm , then the effort arm will be: 

    (A) 5m       (B) 15m (C) 45m (D)5/3m 

 Q.137 Å’ek LFkkukarj.k dh og fo/k] ftlesa ,d ek/;e vko';d ugha gS The mode of heat transfer in which a medium is not 

necessary is: 

   (A) dsoy fofdj. Radiation only      

  (B) dsoy pkyu Conduction only 

  (C) dsoy laogu Convection only   

  (D) pkyu ,oa laogu nksuksa Both conduction and convection 

  Q.138 pqacdh; izokg ?kuRo dh bdkbZ gS The unit of magnetic flux density is: 

    (A) Wb   (B) Wb/m2    (C) Wb/m     (D) Wb/A   

 Q.139uhps fn, x, vuqØeksa esa ls fdlesa noka in ,d lekukarj Js.kh ugha gSa The sequence defined by which of the following nth term 

is not an AP?  

   (A) 5n-12    (B) 2n+2      (C) 8n+1   (D) 4n2 +5 

 Q.140fof'k’V Å’ek 2500J/kg/K ,oa 10kg nzO;eku okys fudk; ds rkieku esa gksus okyh òf) Kkrj djsa] tc 60000 twy dh Å’ek nh tkrh 

gThe raise in temp. of the body of specific heat 2500j/kg/k and mass 10kg when a heat of 60000 joule is given is: 

    (A) 0.24 k (B) 24k    (C) 2.4 k (D) 240k 

 Q.141lkoZHkkSfed xq:Rokd’kZ.k fLFkjkad dh bdkbZ g The unit for universal gravitational constant is: 

   (A) Nm2/ kg2 (B) Nm2/ kg   (C) Nm2/ kg3   (D) Nm/ kg2 

   Q.142.25 iq:’kksa ds ,d lewg dk vkSlr otu 78.4 fdxzk ifjdfyr fd;k x;kA ckn esa irk pyk fd ,d iq:’k dk otu xyr :i ls 96 

fdxzk dh txg 69 fdxz ntZ dj fn;k x;kA lgh vkSlr gS The average weight of a group of 25 men calculated to   

       be 78.4kg. it was discovered later that one weight was wrongly entered as 69 kg instead of 96kg. The correct average is: 

      (A) 78.48     (B) 80.48        (C)79.48     (D) 79.9 

Q.143 gekjs vkek”k; esa mifLFkr tBjkEy ¼xSfLVªd twl½ pH yxHkx bruk gksrk gThe gastric juice present in our stomach has a pH of 

about: 

      (A) 7   (B) 9 to 10   (C) 12 to 13   (D) 1 to 2 

Q.144,d lekarj vkjksg.k 51] 59] 67] 75-----------dk n oka in gS The nth term of an Ap 51. 59. 67. 75….. 

(A) 8n+25   (B) 4n-66   (C) 43+8n   (D) 50-7n                Q.145lekukarj IysV la/kkfj= dh /kkfjrk bl ij fuHkZj ugha djrh gSThe 
capacitance of a parallel plate capacitor does not depend on:&  
(a) la/kkfj= ds IysVksa dk {ks=QyArea of the plates of the capacitor 

(b) la/kkfj= ds IysVksa ds chp dh nwjhDistance between the plates of the capacitor  
(c) la/kkfjr= ds IysV ds chp dk ek/;eMedium between the plate of the capacitor 

(d) la/kkfj= dk ckgjh ek/;eMedium outside the capacitor 

Q.146The handles of the cooking vessels are usually made of Bakelite because: [kkuk idkus okys ik=ksa ds gSaMy lkekU;r% csdykbV ds cus 

gksrs gSa] D;ksafd&   

(a) Its specific heat capacity is very highbldh fof”k’V Å’ek {kerk cgqr mPp gksrh gS 

(b) It can be made into any attractive shapesbls fdlh Hkh vkd’kZd vkdkj esa cuk;k tk ldrk gS  

(c) It is a bad conductor of electricity;g fonq;r dk ,d dqpkyd gksrk gS 

(d) It is heat resistant  ;g Å’ek izfrjks/kh gksrk gS 

Q.147 ikap txr oxhZdj.k ds vuqlkj vk|&thok.kq gAccording to the five kingdom classification archaebacteria is: 

A) A separate group ,d vyx lewg   

      (B) An extinct bacteria,d foyqIr cSDVhfj;k   

      (C) Included in the group archaea lewg vkfdZ;k esa 'kkfey 

      (D) included in the group monera lewg eksusjk esa 'kkfey 

Q 148An iron rod sinks in water but a ship made of iron floats because,d yksgs dh NM ikuh esa Mwc tkrh gS ysfdu yksgs dk 

cuk tgkt ikuh esa rSjrk jgrk gS D;ksafd&  
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 Aa aa(a) The upward force acting on the ship is less compared to that acting on the rod. tgkt ij dk;Zjr Å/oZxkeh cy] NM ij dk;Zjr cy 

dhrqyuk esa de gksrk gS 

 (b) The density of water is more than the density of ironikuh dk ?kuRo] yksgs ds ?kuRo ls vf/kd gksrk gS 

(c) The gravitation force acting on the ship is less than the gravitational force acting on the iron rod tgkt ij dk;Zjr 

xq:Rokd’kZ.k cy yksgs dh NM ij dk;Zjr xq:Rokd’kZ.k cy ls de gksrk gS 

(d) While floating, the weight of the ship is equal to the weight of the displaced waterrSjus ds nkSjku tgkt dk out foLFkkfir ikuh ds otu ds 

cjkcj gksrk gS  

Q.149gekjs nkarksa dks cz”k djus ds fy, mi;ksx fd, tkus okys VwFkisLV lkekU;r% ,sls gksrs g Toothpastes used for brushing out teeth is 

generally: 

(A) Amphoteric mHk;/kehZ  (B) Basic{kkjdh;    (C) Ionic vk;uh (D) Acidic vEyh; 

Q.150 ikS/kks dk og ,d Hkkx tks ouLifr lapj.k esa mi;ksx ugha fd;k tkrk gS og gS One of the plant parts  not used in vegetable 

propagation  

(A) Flower iq’i   (B) Leaf iRrh     (C) Stem ruk   (D) Root tM+ 

Q.151 vkuqoaf”kd iz;ksxksa esa vdlj mi;ksx fd;s tkus okys dhV dk uke crk,Name the most commonly used  insect in genetic  

experiments: 

(A) Dragon flyO;k/kir 

  (B) May fly vYik;q e{kh 

  (C) House fly?kjsyw eD[kh 

  (D) Fruit fly Qy dh eD[kh 

Q.152;fn ,d lekarj Js.kh ds izFke 13 inksa dk tksM 195 gS vkSj izFke 30 inksa dk tksM 960 gS rks lekarj Js.kh ds izFke 50 inksa dk tksM 

gksxk if the sum of first 13 terms of an AP is 195 and sum of  

first 30 terms is 960, then the sum of first 50 terms  of the ap  

is: 

(A) 2650 (B) 2500     (C) 2360 (D) 2600 

Q.153;fn fn, x, nks i’̀Bksa ds fy, LFkSfrd ?k’kZ.k dk xq.kkad 1-0 gS rc ?k’kZ.k dk dks.k gS If the coefficient of static friction  for the 

given two  

surfaces is 1.0 then the angle of friction is: 

(A) 15° (B)  60°   (C) 30°    (D) 45° 

Q.154 What would be the formal charge on the oxygen atoms of ozone molecule represented as Lewis structures if the oxygen 
are labeled as 2nd oxygen (left end), 1st oxygen (central oxygen) and 3rd oxygen (right end) respectively in the angular O3 
molecule? ywbl lajpukvksa ds :i esa n”kkZ;s x;s vkstksu v.kq ds vkWDlhtu ijek.kqvksa ij vkSipkfjd vkos”k D;k gksaxs] ;fn vkWDlhtu dks 

dks.kh; O3 v.kq esa Øe”k% 2js vkSDlhtu ¼ck;ka fljk½ 1ys vkWDlhtu ¼dsUnzh; vkWDlhtu½ vkSj 3js vkWDlhtu ¼nf{k.k fljs½ ls yscy fd;k tkrk 

gS&  

(a) 0, + 1, -1  (b) -1, +1, +1  

(c) -1, 0, +1 (d) +1, 0, -1 

 

5   Q.155bd ifg;k Bsyk bldk ,d mnkgj.k gS Wheelbarrow is an example for: 

(A) Second order lever }rh;dksfVd mRrksyd  

(B) first order lever izFkedksfVd mRrksyd 

(C) Third order lever r̀rh;dksfVd mRryksd    

(D) Fourth order lever prqFkZdksfVd mRrksyd 

Q.156 When an object is placed in between the principal focus and the optic centre of a convex lens, we ge tc fdlh oLrq dks mRry ysal ds 

eq[; Qksdl vkSj pk{kq’k e/; ds chp esa j[kk tkrk gS rks ge izkIr djrs gSa&  

(a) A real, erect and enlarged image ,d okLrfod] lh/kk vkSj ifjof/kZr Nfo  

(b) A virtual, erect and enlarged image ,d vkHkklh lh/kk vkSj ifjof/kZr Nfo  

(d) A virtual, erect and diminished image ,d vkHkklh lh/kk vkSj g̀kflr Nfo   

(d) A virtual, inverted and enlarged image,d vkHkklh mYVk vkSj ifjof/kZr Nfo  

 
Q.157 When a bar magnet is placed in an external uniform magnetic 

field at an angle 30° with the field, thentc ,d pqacd dh iV~Vh dks cká ,dleku pqacdh; {ks= esa 300 ds dks.k ij j[kk tkrk gS rc&  

(a) The magnitude of force acting on the north pole of the magnet is more than that acting on the south poledk;Zjr cy dk ifj.kke nf{k.kh /kqzo 

ij dk;Zjr cy ls vf/kd gS 

 (b) The force acting on each magnetic pole is zeroizR;sd pqacdh; /kzqo ij dk;Zjr cy “kwU; gS  

(c) The torque acting on the magnet is zero paqcd ij dk;Zjr xzSos;d “kwU; gS 
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(d) The net force acting on the magnet is zero pqacd ij dk;Zjr usV cy “kwU; gS 

Q.158,d fizTe ds ek/;e ls lQsn izdk”k xqtjrk gS rks fizTe ds vk/kkj ij ns[kk tkus okyk jax ;g gS When a white light passes 

through a prism,  the colour seen at the base of the prism is: 

(A) Green gjk 

(B) Violet cSaxuh 

   (C) Blue uhyk  

 (D) Red yky 

Q.159  tc ge ,d {kSfrt lrg ij j[ks ,d cDls dks [khaprs gS rks ?k’kZ.k cy }kjk fd;k x;k dk;Z gS When we pull a box along a   

horizontal surfaces, the work done by the frictional force is: 

A) Positive kukRed 

 (B) Negative_.kkRed   

(C) Zero  “kwU; 

 (D) Normal to the directions of motion of the body“kjhj dh xfr dh fn”kk esa lkekU; 

Q.160 Why are the π2px and π2py molecular orbitals lower in energy than the σ2pz molecular orbital in the case of N2 molecule when the MOs are 

arranged in an Aufbau manner N2 v.kq ds ekeys esa n2px vkSj n2py vkf.od vkfcZVy ÅtkZ esa a2pz vkf.od vkfcZVy ls de D;ksa gksrs gSa tc 

vkf.od vkfcZVy fuekZ.k rjhdsA vQckÅ eSuj ls O;ofLFkr fd;s tkrs gSa&  

(a) Because there is no mixing up of the 2s and 2p  
atomic orbitals of N atoms D;ksafd N ijek.kqvksa ds 2s vkSj 2p vkf.od vkfcZVy dk dksbZ feJ.k ugha gksrk gS 

b)Because of the non–directional nature of the 2s  
atomic orbital of the N atoms N ijek.kqvksa ds 2s vkf.od vkfcZVy dh xSj fn”kkRed izd`fr ds dkj.k  

(c) Because of the mixing up of the 2s and 2p atomic orbitals of N atoms N ijek.kq ds 2s vkSj 2p vkf.od vkfcZVy ds feJ.k 

ds dkj.k  

(d) Because of the directional nature of the 2px and 2py atomic orbitals of the 2N atoms. 2N ijek.kqvksa ds 2px vkSj 2py vkf.od vkfcZVy dh 

fn”kkRed izd̀fr ds dkj.k 

Q.161 izdk”k iksf’kr cSDVhfj;k---------------o.kZd dk mi;ksx djrs gSa Phototrophic  bacteria use the pigment called: 

(A) ikni DyksjksfQy Plant chlorophyll    

 (B) eq[; izdk”klaosnh o.kZd  Special photosensitive pigment 

(C) cSDVhfj;ksDyksjksfQy Bacteriochlorophyll  

 (D) cSDVhfj;ksjgkMkfIlu Bacteriorhodopsin 

Q.162,d foy;u “X” ue yky fyVel dks uhys esa cny nsrk gSA foy;u dk pH D;k gksxk A Solution ‘X’ turns moist red litmus to 

blue. What would be the pH of the solution? 

(A) 7   (B) 11     (C) 3   (D) 1 

Q.163 vkf.od lw= C2FClBrI okys ;kSfxd ds fy, fdrus leko;oh ¼vkblkseslZ½ laHko gS How many isomers are possible for the 

compound having the molecular formula C2FCIBrl? 

(A) 4 (B) 6    (C) 5 (D) 3 

Q.164 ØL;wyslu vEy p;kip; ikS/kksa dh enn dSls djrk gS How does c rassulacean acid metabolism help the plants? 

(A) Secondary growth of roots and stems tMksa rFkk rus ds ek/;fed fodkl }kjk 

(B) Vegetative propagation ouLifr izo/kZu }kjk   

(C) Metabolic activities p;kip;h xfrfof/k;ksa }kjk 

  (D) Conservation of water ty la{kj.k }kjk 

Q.165 Fortin’s barometer is to be set up in such a way that, its length isQksfVZu dk cSjksehVj bl izdkj LFkkfir fd;k tkuk gS fd bldh yackbZ 

gks&  

(a) Parallel to the surface of the earthi`Foh dh lrg ds lekukarj 

(b) Inclined to an angle 45° with the horizontal  {kSfrt ds lkFk 450 

ds dks.k ij >qdh gbZ 

(c) Inclined to an angle 60° with the horizontal{kSfrt ds lkFk 600 ds dks.k ij >qdh gqbZ  

(d) Perpendicular to the earth’s surfacei`Foh dh lrg ds yacor 

QQ.166 Assuming that Hund’s rule is violated, what would be the ond order and magnetic behaviour of oxygen molecule?  ekuk fd gqaM ds fu;e esa 

mYya?ku fd;k x;k gS vkWDlhtu v.kq dk vkca/k Øe ,oa pqacdh; O;ogkj D;k gksxk& 

a) b.o. = 1 vuqpaqcdh; 

(b) b.o. = 2 izfrpqacdh;  

(c) b.o. = 1 izfrpqacdh; 

(d) b.o. = 2 vuqpqacdh;   
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Q.167 An organic compound consisting of C, H and O 
contains 80% C, 5% H and the rest oxygen. What would 
be the masses of CO2 and H2O obtained by the 
complete combustion of 0.12gm of the substanceC, H 

vkSj O ls cus ,d dkcZfud ;kSfxd esa] 80% C, 5% H 
vkSj ckdh vkWDlhtu mifLFkr gSA inkFkZ ds 0-12 xzke ds iw.kZ ngu 

ls izkIr CO2 amd H2O ds nzO;eku D;k gksxk&  

(a) Mass of CO2 = 0.352 gm and mass of H2O = 0.054gm  

 CO2 nzO;eku ¾ 0-352 vkSj H2O dk nzO;eku = 0.054 xzk 

(b) Mass of CO2 = 0.026 gm and mass of H2O = 0.00033gm  

 CO2 dk nzO;eku = 0.026 xzk vkSj H2O dk nzO;eku = 0.00033 xzk- 

(c) Mass of CO2 = 0.035gm and mass of H2O = 0.0054 gmCO2 dk nzO;eku = 0.035 xzk vkSj H2O dk nzO;eku = 0.0054 xzk  

(d) Mass of CO2 = 0.035gm and mass of H2O = 0.0054 gm CO2 dk nzO;eku = 0.026 xzk vkSj H2O dk nzO;eku = 

0.00066 xzk 

Q.168 Which of the following characters would describe the best about subsidiary cells fuEufyf[kr esa ls dkSu lh fo”ks’krk 

lgk;d dksf”kdkvksa ds fo’k; esa loksZRre o.kZu djsxh&  

 (a) Subsidiary cells are variable in shape onlylgk;d dksf”kdk,a dsoy vkdkj esa fHkUu gksrh gSa 

(b) Subsidiary cells have homogeneous thin walls only  lgk;d dksf”kdkvksa esa dsoy ltkrh; iryh nhokjsa gksrh gSa  

(c) Chloroplasts are absent onlydsoy DyksjksIykLV 

vuqifLFkr gksrs gSa  

(d) All of the above mijksDr lHkh  

Q.169 Eufyf[kr esa ls dkSu lh dsUnzh; izòfRr dh eki ugha gS Which of the following is not a measure of central tendency? 

   (A) lhek Range    (B) cgqyd Mode      (C) ek/; Mean   

   (D) ef/;dk Median 

Q.170 Which of following is the character of bicollateral vascular bundle fuEufyf[kr esa ls dkSu vHk; ¶yks;eh laoguh caMy dh fo”ks’krk gS&  
(a) The xylem patch lies in between the two phloem patches only 

tkbye [kaM] dosy nks ¶yks,d [kaMksa ds e/; fLFkr gksrk gS 

b)Bilateral bundle consists of two strips of cambium outer and inner (on both sides of xylem) only f}rhi{kh; caMy esa 

dSfEc;e dh nks ifV~V;ka vr% ,oa cká gksrs gSa  
(c) All of the abovemi;qZDr lHkh 

(d) A conjoint vascular bundle in which one phloem patch lies towards the outer side and the other phloem patch lies towards the 
inner side only ,d la;qDr laoguh caMy ftlesa ,d ¶yks,d [kaM ckgj dh vkSj fufgr gksrk gS ,oa vU; ¶yks,e [kaM dsoy Hkhrj dh vksj 

fufgr gksrk gS  

Q.171 Which one of the following is equivalent to the stem in a bulb fuEufyf[kr esa ls dkSu ,d cYc esa ruk ds leku gS&  

(a) Disc shaped structure from which the fleshy scale leaves arise 

fMLd vkdkj dh lajpuk ftlesa ls ekaly “kqYd okyh ifRr;ka 

fodlfr gksrh gSa 

(b) Green cylindrical structures gjh csyukdkj lajpuk,a  

(c) Hairy rootsjksfey ewy   

(d) Pink colored dry scalesxqykch jax ds lw[ks “kYd  

Q.172 Which one of the following statements is true for the electric 

lines of forcefuEufyf[kr esa ls dkSu lk dFku cu dh fonq;r 

js[kkvksa ds fy, lR; gS&  

(a) A test charge will not be accelerated along the 
direction of the electric lines of force ,d ijh{k.k vkos”k dks 

cy dh fonq;r js[kkvksa dh fn”kk ds lkFk Rofjr ugha fd;k tk,xk 

b) In a uniform electric field, the lines of forces are not parallel to each other,d leku fonq;r {ks= esa cyksa dh js[kk,a ,d nwljs ds 

lekukarj ugha gksrh gSa  

(c) Two electric lines of forces can cross each other cy dh nks fonq;r js[kk,a ,d nwljs dks dkV ldrh gSa  

(d) Two electric lines of forces never cross each other ch nks fonq;r js[kk,a ,d nwljs dks dkV ugha ldrh gSa 

Q.173Which one of the following characteristics is not found to be true in case of arenes,sjhu ds lca/k esa fuEu y{k.k esa 

ls dkSu lk ,d lgh ugha ik;k x;k&  

 (a) Extra stability of arenes,sjhu dh vfrfjDr fLFkjrk 
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(b) Delocalisation of π electrons π bysDVªkWuksa dk foLFkkiu    

(c) Always undergoes electrophilic addition reactionsges”kk bysDVªkWujkxh ;kstuk vfHkfØ;kvksa ls xqtjrk gS 

(d) vuqukn 

Q.174Jà[kyk 72] 63] 54---------------ds lekarj Js.kh dk dkSu lk in 0 gS Which term of the Ap of the series 72, 63,  54………is  

     O? 

    (A) 12th term (B) 8th term   (C) 9th term   (D) 10th term 

Q.175,Ydhu igpkfu, tks vkstksuksfyfll ij C;wVsuy vkSj izksisuksu nsxk Identify the alkene which would give butanal and 

Propanone on ozonolysis? 

   (A)    (B)   

  (C)  (D)  

Q.176 indentify the character of the phyllode from the following fuEufyf[kr esa ls i.kkZHk oàr dk y{k.k igpkusa&  

 (a) The nodes and internodes are absentioZlaf/k ,oa ioZ vuqifLFkr gksrs gS 

 (b) The stem is modified into flat leaf like structure ruk piVh iRrh tSlh lajpuk esa :ikarfjr gks tkrh gS  

(c) Usually develops in the axil of a leaflkekU;r% iRrh ds  

d{k esa fodflr gksrk gS  

d)Has reduced or modified leaves blesa de ;k  

:ikarfjr ifRr;ka gksrh gS  

Q.177 Vacuum pump is a device thatoSD;we iEi ,d midj.k gS tks&  

 (a) removes the water from a sealed volume to make it empty;g ,d lhYM okWY;we ls mls [kkyh djus ds fy, ikuh 

gVk nsrk gS 

 (b) removes gas molecules from a sealed volume so as to create a partial vacuum  ,d lhYM okWY;we ls xSl ds 

v.kqvksa dks fudkyrk gS rkfd vkaf”kd fuokZr iSnk dj lds  

(c) is used to fill the gas into the given cylinders bldk mi;ksx fn, x, flysaMjksa dks xSl ls Hkjus ds fy, fd;k tkrk gS  

(d) is used to fill the gas into the given cylinders ;g ckgj ls xSl dks [khaprk gS vkSj fn, x, ik= dks xSl ls Hkjrk gS 

Q.178 izfrjks/k vkSj le; dks fLFkj j[krs gq, ,d pkyd ls xqtjrh /kkjk dks nqxuk fd;k tkrk gS rc mRikfnd Å’ek gksxh by keeping 

the resistance and time constant, the  

   current through the conductor is doubled. Then the heat produced will: 

   (A) remains the same leku jgsxh 

    (B) be doubled nqxuh gks tk,xh 

  (C) becomes 8 times the initial  value vkjafHkd eku dh 8 xquh 

   (D) becomes four times the initial value vkjafHkd eku dh pkj xquh 

Q.179 ikS/kksa esa yphykiu blds dkj.k gksrk gS Flexibility in plants is due to: 

   (A) Chlorenchyma gfjr Ård 

   (B) Parenchyma e`nwrd 

 (C) Sclerenchyma n`<+ksrd 

  (D) Collenchyma“ys’kksrd 

Q.180 fuEufyf[kr esa ls xyr feyku Kkr djsa Find the incorrect match form the following: 

    (A) ijklj.kh nckc ¾ LQhr ifjorZu Osmotic pressure= Turgor changes 

 (B) lalatu ruko fl)kar ¾ Losn f[kapko 

Cohesion tension theory= transpiration pull 

    (C) ncko {kerk ¾ gkbMªksLVSfVd ncko fl)kar Pressure polential= hydrostatic pressure theory 

    (D) ja/kz&xfr ¾ K+ ifjogu Osmotic pressure = tugor changes 

Q.181yxkrkj ikap o’kksZa ds nkSjku] ,d fo|ky; dk ukekadu fuEukuqlkj Fkk The enrolment of a school during 5 consecutive years was 

as follow: 

     1490. 1840/. 2100, 3600, 2520. The mean of the enrolment of the school for this period is……. 

    (A) 2140   (B) 3220    (C) 1980   (D) 2310 

Q.1182      [Ni (CO)4] ,d ----------------lfEeJ gS [Ni(Co)4] is 

       a/an……….complex 

   (A) _.kk;fur Anionic (B) /kuk;fur Cationic    

    (C) mnklhu neutral   (D) lsrq&ca/ku Bridging 
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Q.183The cumulative frequacny distribution is given bleow uhps lap;h ckjackjrk caVu fn;k x;k gS&  

CI 20-

30 

30-

40 

40-

50 

50-

60 

60-

70 

70-

80 

Cf 8 18 27 52 58 70 

 fuEufyf[kr esa ls fdldh ckjackjrk lcls vf/kd gS 

 (a) 70-80 (b) 30-40 

              (c) 60-70              (d) 50-60 
Q.184,d fu”pr MsVk dk lap;h ckjackjrk caVu uhps fn;k x;k gS&  

CI 5-

10 

10-

15 

15-

20 

20-

25 

25-

30 

30-

35 

CF 6 10 22 30 40 47 

 (a) 30  (b) 12  

(c) 10  (d) 8 

 

Q.185;fn  ==
=

n

r

n

r
rr
1

3

1
,55   rks Kkr dhft,&  

 (a) 55  (b) 553  

(c) 
54

1
  (d) 552  

 

Q.186;fn ________
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,tantan
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(c) 
k

k

+1

2
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+
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1
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Q.187;fn x = 8 cos3θ, y = 8 sin3θ, then _________3

2

3

2

=+ yx  &  

 (a) 1  (b) 4  

(c) 2  (d) 8 

Q.188 √
1−𝑠𝑖𝑛𝜃

1+𝑠𝑖𝑛𝜃
 

  (A) sec𝜃  tan𝜃  (B) Sec𝜃 -tan𝜃  

    (C) Tan𝜃 -sec𝜃  (D) sec𝜃 + tan𝜃 

Q189  ....,.........999 27

1

9

1

2

1

dk eku---------gS&  

value of 91/2 X 91/9 X 91/27……………∞ 

      (A) 3 (B) 1    (C) 9 (D) 27 

.Q.190 vfrla;qXeu var%fØ;k ds c<rs Øe esa fuEufyf[kr dkcksZds”ku ds O;ofLFkr djus dk lgh rjhdk D;k gS What is the correct way of 

arranging the following carbocation in the increasing order of hyperconjugation interaction? 

I    =n propyl carbocation 

II  = tert. Butyl carbocation 

II I. Isopropyl carbocation 

I  v.Methyl carbocation 

   (A) I<II<III<Iv   (B) II<I<III< IV 

   (C) II<III<I<IV  (D) IV<I<III<II 

1Q.191. Sin6A+ Cos6A+3 Sin2A. Cos2A=……. 

 (A) 3    

(B) 1      

(C) 2      

(D) 0 

 

1Q192.;fn a,b,c lekarj Js.kh esa gSa vkSj x,y,z xq.kksRrj Js.kh esa gSa] rks xb-cyc-aza-b dk eku if a,b, c are in AP and X,Y,Z are in GP, then 

the value of xb-cyc-aza-b=………….. 

   (A) 1 (B) 0      (C) xyz    (D) xaybzc 
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Q.193.;fn A, 2jS prqFkkZa”k esa fLFkr gS vkSj 3tan A+4 = 0 rks 2cot A-5cosA+sinA dk eku----------gS&  

 If lies in 2nd quadrant and 3 tanA+4=0, then the value of 2CotA-5Cos A +SinA is. 

(A) 37/10  (B)7/10        (C)23/10    (D) -53/10  

 
Q.193;fn A, 2jS prqFkkZa”k esa fLFkr gS vkSj 3tan A+4 = 0 rks 2cot A-5cosA+sinA dk eku----------gS&  

 (a) 
10

37
  (b) 

10

7
  

(c) 
10

23
  (d) 

10

53
−   

Q.194 NC 15
7

14
6 , vkSj 016

8 gS&  

 (a) Isotoneslerku ¼vkblksVksUl½  

(b) IsotopesleLFkkfud ¼vkblksVksIl½   

(c) Isobars  lenkch ¼vkblkscklZ½  

               (d) IsoelectroniclebysDVªkWuh ¼vkblksbysDVªkWfud½ 
Q.195 gy dhft,&  

  2222 sin1cos1cot1tan1 −−++
 

        
(a) 1  (b) sinθ  

(c) cosecθ (d) secθ 

 

Q.196;fn secθ-2= 0 vkSj 0≤θ≤900 rks θ dk eku D;k gS&  

 (a) 450  (b) 300  

(c) 600  (d) 900  

Q.197 xq.kksRrj Js.kh 
4374

1
........,.........

18

1
,

6

1
,

2

1
   ds vafre ls 5* in gS&  

 (a) 
36

1
  (b) 

54

1
  

(c) 
108

1
  (d) 

27

1
  

 

Q.198;fn
4

3
tan = gS rks 






sec2

cos

1
cos

ec
−

dk ewY;kadu djsa&  

               (a) 
50

3
  (b) 

15

2
  

(c) 
25

2
  (d) 

5

1
 

 
Q.199 uhps nh xbZ dkcZfud vfHkfØ;k esa X ,oa Y dh igpku djsa& 

 X+KOHalc→Y (NaNH2 dh mifLFkfr esa½→HC=Can 

 (a) CH3-CH2Br  Y = C2H2 

 (b) X = H2CBr-CH2Br        Y = CH2=CHBr 

 (c) X=H3C-CHBr2     Y = C2H2 

 (d) X=H3C-CHBr2              Y = CH2=CHBr 
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Q.200 uhps fn;k x;k fp=] ,d iz;ksxkRed lsV vi gS ftlesa vfHkdkjd HCl¼tyh;½ vkSj NH3¼tyh;½ “kkfey gSaA gksus okyh jklk;fud 

vfHkfØ;k igpkfu,&  

 

(a) Combination reaction la;kstu vfHkfØ;k  

(b) Double displacement reaction f}foLFkkiu vfHkfØ;k  

 (c) Redox reaction jsMkWDl vfHkfØ;k  

 (d) Redox reaction vi?kVu vfHkfØ;k 
 


